~www.arifrao.com

il b VU set

.3 BOARD OF INTERMEDIATE AND SECONDARY EDUCATIOM.MULTAN.
! OBJECTIVE KEY FOR INTERMEDIATE 2nd ANNUAL EXAMINATION,2023
Name of Subject: JWOI&LW/KY A P st U Group:..........f
-“Q." | Paper Code Correct Paper Code Correct |PaperCode|:- Correct Paper Code
i Nos [, 19| Anwser L{ )93 | Anwser | 4] q¢< Anwser |19 7
1A lede | D |27 | D 25 A
2| C ~ | A | ezl | C . odcpivg R
.3 B «f’(i) D dzo | A beSuryzol A
« | 0 [ 5| D 4o, u sl B ge- | C
s | D | o o) C %3508 | B
X A \A . A l:mﬁey D 25 D.
B WhtC | ¢ A e>| C. )([m%ﬂ]&nat =p
e | A | att| R Mx) D | Y=o | A h&#Hy=o
s e laan | e 13681 D [8°4505] B |12
o | B |9 Dl o | B | 2 PR,
R ) $h A Vo | A | euley 2/z
w2 L0 XCMd*aS'% B .’1,2— < O —1 e >
3 A X+§%ﬂ+‘ﬂ»0 A Late| B (x D a=2
W | B faye-ll ¢ [ G | ¢ | Se8BR D |9l 45
sl e e | o NALY: B | 3
e | D 2[r D s Y A Lodey
17 A 7 ' C ncosq+ % X"/n +C C —|
| 18 D Y =0 A & - A At B £
[l o Tedufnl ] B loche™ C [k | ¢ |54
‘.v;:f:ss ) e, » in® 2 D 0
| Cheek |AIB[C [P AlB AlB|c D AlB|c|D
| ot |S] 515 SIS S1STI1S]
Keyué/ztlp/.."féi-tuﬁ‘i
£ 2023 @20k b sed B 0 T oS bt _L__g4_____61’ b _wi g

yllabus ;/ﬂaLJf.G uj/”f(subjectlve&ObJectlve)u“S/‘:,./L";/.Jlr

2L U AU =, 2 Versmn,«_a U/...G u’;Versmnd//ulwl K.v/ iy (-2 u}zk&fgf( o’(u",?/
s ,,pgc,_,, Fe stkeyl (ifzsy oo 8 HEATE RS DS G it S ey mcas)ssd
://JL? u‘{ Rubrics/(ﬂ:ué//t/ay,‘u ol M&gjﬁl}?l ey Sre JL":Key e gﬁ; Juml_:_ y}:J(E*J!’.’ Kul;C/'Uy",
B Prepared & Checked By: Dated: I/ — /o =341 3
~ S# Name Designation Institution Mobile No | Signature |
AT IMyse Al nlu} Yarmin |Bssicta.d Col/vee&oz 033176397 | "Ll
BRIV Y N, _Af?u o (’}‘“”"‘ e 1, Oie o T_%
13 | ok ' Taves Aowae o SS5 | GHSS, éﬂwﬁﬁ: 0322617678 Yol
14 v T
15
Re-Checked By _4.,4.?1‘ dfd? o’( 4.6/&»‘0{:,,!!7{..‘Umt"Kay"u‘Srr(u" P 5!).7/41,«:1;@»2.(? .
1 Khyvaom 8%— M?MM &'OVL MuD 103214243022 M/“
2| Hal NAW GHSS Lak Mullow | 020-7/877%

o/—(I— )—02-(3




. www.arifrao.com

7 | BOARD OF INTERMEDIATE AND SECONDARY EDUCATION,MULTAN. @
OBJECTIVE KEY FOR INTERMEDIATE 2nd ANNUAL EXAMINATION,2023
Name of Subject: W]LM}A -— I[ Group:.‘...‘zz.
“Q. | Paper Code Correct Paper Code | = Correct |PaperCode|- Correct Paper Code Correct
1 :Nos 9/ 92 | Anwser b9y Anwser G194 Anwser (‘”q & Anwser
L1 b " A /6T C poule S5 | g es |
2 5 Kol | B |adful+c| B . |mmwrizo| A | 28
| C | Macheie| A |fowitite A [vedicd | p [
‘LA l-m=e [ B [ 2a0d ¢ [ wngze| g | avs
= B e L 25 2 | | c=md < | [
o | 4 & o | o | el | p | X
£ B lad+| B |mmi=| A. % R .| Rl
o | A | fetlhq A | eked p | ) ¢ | Perdeark
0 R '~J—1—¢,C4yx+¢ C A+ B ay.b A ?:,’T—f[»
10 R 2 /3 c=fafimmt (. }/l ‘ —
| C | Pubhlins] B | el | p | B /s
- 12 )2 W tl=2| A 7—’;%3’ R 220 ql.}u/v"é
Lo | A |wvekicd| p | 1 ¢ | pocfie | S 4‘a~>ofn+/
w | ¢ lueab | B | avb | A g B | —gaie
s | B ezt C | 3 £ » g | 2>
- 2 e n ¥ 14 e’L‘h Z. P”’;{"{ﬁi’f) ¥o
Car A %‘g" é Pect i &?JU)‘AIHL R | MimnA (=0
e | p | ¢ . | Mac SemeHfdowdt  p | peetied
110 2 avb | A =N R Losswrc| ¢ | wbyLé
| 20 C Ny R X ';g > A C=af,Fut
150 |alslc Ip ) AlB|c Alelc|p alslc|o
| Total ZILIRR Yl 3%&7/ A '42’
‘ ey‘.fm/,»,drzf_-f,t.;ﬁ:;
¥ 2023 g1 20l L echof R Pl b ___é;g__bz__u_ﬂg,ﬂ
'.,J!rw-f_ VU Set Jlbag abus g{dﬁ;.y/ugguf///(Sub;uct;ve&omective)u*"s/',gnﬁ?r,g{.gw

gy;‘. u/(/l?c, o e lKeyl (L»/ s u"”d/J(J o’u‘ wf» db JJMUL ¢ Key (MCQs)& S
.t § 6L o Rubrios/ b et B &‘”&( K e iKey U (0 il W b9 K LS U
Prepared & Checked By: Dated: 3{—)p~2023
: S# Name Designation Institution Mobile No | Signature
1| HAE Madupann! mw AP Errecon Uniyeeatly fulll 8273/57' | Fhof
[z [P Pupomed Javell <o cy’#ss samw 0322617(679 Jerl——
5
Re-Checked By -c..u”‘ dfd? u/ c;.d/&u"fa,‘b’.!:.._«u.uﬂ ' "u‘ /"‘(U" B0+ {fv'i),g/,"rmc»i.,/
L
AN SAAIA%J Aﬁiﬁw E UCA:?Z@ ﬁf:q ’73’4639;%; ;%éf |
12 | mp@ Nawaz 133S | GHsS Lat /W@ 03£0-7, 53

0! // - 2> )“—Z Zojt'




www.arifrao.com ‘
Coeb)

INTERMEDIATE PART-II (12" Class) | 20232"-A) |[RollNo: \ ~
MATHEMATICS PAPER-II  GROUP-I
TIME ALLOWED: 2.30 Hours } SUBJECTIVE | MAXIMUM MARKS: 80
NOTE: Write same question number and its parts number on answer book, as given in the question paper.
SECTION-I

2. Attempt any eight parts. 8x2=16

Gy |If Fx)=Jxi1, g(x):—l— cx0 find fog(x) (ii) Prove that sinh2x = 2sinhxcoshx.

xz ’
(iii) | Evaluate ,  sinx (iv) | Define Optimal solution.
XA T — X
(v) | Graph the solution set of 3x -2y >6. (vi) | Find by definition, the derivative w.r.t x of (x+4)%
(Vi) |16 y=xtv 2+ 2, prove that &y 77 (Viil) | Find Bif x-0+ 5 y=0+1
X
(iX) | Differentiate 1 g, +* wrt. x (x) | Find & if y = x/tnx
a a dx

(x1) | Find y, if x*+ y*=a? (xii) | Expand e** by Maclaurin series.
3. Attempt any eight parts. 8x2=16

(i) | Using differentials to find & if x?4+2y2=16 (ii) | Evaluate J'x(‘/;+ 1) dx

dx
(iii) | Evaluate [ N....L. Sy (V) | Evaluate J. x nx dx
(5 + 2bx + ¢
) Evaluate fcos » (vi) | Solve the differential equati
%

(vii) | Find the area below the curve y =3/x and above the x — axis between

(Vi) | Find the sum of the vectors AB and CD, given the four points A(1, -1),

(ix) | Find the direction cosines of j=4; — 5]

(X) | Calculate projection of a along bif =1~ A, b :}'
(xi) | Provethat ax(b+¢)+bx(c+a)+cx(a+b)=0
(xii) | A force F =4i — 3k passes through the point 4 ¥, ¢ moment of F about the point B(l, -3, 1)

4. Attempt any nine parts. 9x2=18

(i) | Write point-slope form of equation of a stren

(ii) | Transform the equation 5x — 12y +39=0 i

(iii)

(iv)

)

(vi)

(vii)

(viii)

(ix)

()

(xi)

(xii) | Find the centre and foci of the ellipse x* + 4y*=16

(xiii) | Wwrite equations of the tangent and normal to conic x % 192_ -1 atthe point (% 1)

8
SECTION-1I
NOTE: Attempt any three questions. 3x10=30
5.(a) Prove that ( A l‘J" . (b) | Find ;ﬂ of following parametric function | _ a(l- ﬁz)’ o 21312
P ” X 1+1¢ 1+t
6.(a) | Evaluate J' sin x dx (b) | Find equations of two parallel lines perpendicular to 2x - y +3=0
such that the product of the x —and y —intercepts of each is 3.
7.(a) Y/ . (b) | Maximize f(x, y)=2x+ 5y subject to the constraints
Evaluate J.1+Sinxdx 2y-x<8, x—y<4,x20;, y20
0
8.(a) d’y dy

If y = acos(¢nx) + bsin(fnx) then prove that x> = L4 x=2 4 =0
y (¢nx) (nx) ATy

(b) | Find coordinates of the point of intersection of the line x + 2y = 6 with the circle x* + y* - 2x -2y -39=0

9.(a) | Show that the equation x* + 16x + 4y* — 16y + 76 = 0 represents an ellipse. Find the foci and eccentricity
and sketch its graph.

(b) Which vectors, if any, are perpendicular or parallel , = ; + 2j-k v=—itj+ki w= ~12[.1' -mj+ %1_(

14-2023(2" -A)- | 8co (MULTAN)
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INTERMEDIATE PART-II (12" Class) | 2023 2"-A) [Roll No: _\ ~
MATHEMATICS PAPER-II GROUP-II
TIME ALLOWED: 2.30 Hours | SUBJECTIVE | MAXIMUM MARKS: 80
NOTE: Write same question number and its parts number on answer book, as given in the question paper.
SECTION-I
2. Attempt any eight parts. 8x2=16
() | Express the perimeter P of a square as a function of its area A.
(i)) | For real valued function f(x)=2x+1and g(x)-_3 x#l, find fog (x)
P
(iii) tvaloats Lim ~— (iv) Differentiate [ 5 - _Lsz.r.t. x
x=>0 tanx ’ \/;
(v) | Find d%x if 3x+4y+7=0 (vi) | Find d%x if x=ysiny
ViD) | Find £'(x) if f(x) = Pl x 20 (viii) | Find y, if x*-y* =4’
(ix) | Apply Maclaurin series expansion to prove that g(1+x) = x - x—; + -’g— ~ XT:+ ........................
(x) | Find the extreme values of the function f(x)=3x"~4x+5
(xi) | Define corner point. l (xii) ‘ Graph the solution set of the inequality 2x + y =2
8x2=16

3. Attempt any eight parts.
i . - = d . 2 2 li
() | Use differentials to find %x if x°+2y° =16 () | gyaluate I[ e

-

(iii) | Evaluate _f ——:2—’;—2— dx (iV) | Evaluate je"" sin'x) dx
™ | Evaluate _j; B - x de () | Find the area bounded by cos fu - uftz_ and x = —725
(vii) S dy _ ) (viii) | If 4B=cD, find the coordinates t A,when B, C, D are
e (1,2),(=2,5),(4,11) 18 ely®
(%) Find direction cosines for the given vector V = 3i - }
(X) | Find a scalar @ so that the vectors 27 + a}' + 5k ] ak are perpendicular.
(xi) |1f ¥ is avector for which ¥ .71 =0, V. ] ind v (xii) | Find the value of 3} kxi

9%x2=18

4. Attempt any nine parts.

(i) | Show that points A4(0, 2), B(~/3, —1) ang @k 2Yare vertices of a right triangle.
(ii) | Find k& so that line joining A (7, 3), #BiA

(ili) | Find equation of line joining (=3, —¥3 )fa , -1).

(iv) | Convert 2x — 4y + 11 =0 intogi esiafercept form (i) two-intercept form

(v) | Find equation of line throug 7 Yand parallel to 2x — 7y + 4 =0

(vi) | Find point of intersectign offyx oand x-3y+3=0

(vii) | Find lines represented

(viii) | Find equation of ci

(ix) | Find centre a

(x) | Find lengf@%£tahgent from p(—s, 10) to circle Sx*+ 5y*+14x +12y -10=0

(xi) | Write Cqua of parabola with focus (1, 2 ), vertex (3, 2 ).

(xii) | Find centre and foci of ellipse 25x” + 9y* =225

(xiii) | Find eccentricity and vertices of hyperbola x* - y* =9

SECTION-II
NOTE: Attempt any three questions. 3 x10=30
5.(a £ b % )
(@) Evaluate the following limit yj, -1 . x<0 (®) | If x = 4 cos’ 6, y = bsin® G show that a—Z—)x—+ btand =0
x =0 e}{, i 1
6.(8) | Evaluate the integral _[ 2x & (b) | Check whether the lines 4x-3y—8=0, 3x—4y—6=0, x—y-2=0
1-sinx are concurrent. If so, find the point where they meet.

7.(a) | Find area between x —axis and the curve y = 2ax - x> when a >0

(b) | Minimize z=3x + y subject to constraints 3x+5y>15, x +3y 29, x = 0, y20

&

8.(a) | Find the point on the curve y = x*+ 1 thatis closest to the point ( 18, 1).

(b) | Find an equation of circle passes through 4(3, -1), B(0, 1) and having centre at 4x -3y -3 =0

9.(2) | Find the focus, vertex and directrix of parabola x* — 4x — 8y + 4 =0

(b) | Show that mid point of hypotenuse a right triangle is equidistant from its vertices.

16-2023(2"-A)- 27 (MULTAN)
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2023 (2"%-A)
Number: 4191 INTERMEDIATE PART-II (12" Class) Roll No:
MATHEMATICS PAPER-II GROUP-I
TIME ALLOWED: 30 Minutes OBJECTIVE | MAXIMUM MARKS: 20

Q.No.1

You have four choices for each objective type question as A, B, C and D. The choice which you think
is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to
fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that g

uestion.

S.# QUESTIONS A B C D
1 mathematician invented a
symbolic way to write ““ y is a function Euler Newton Leibniz Cauchy
of x” as y= f(x).
2 |Let f(x)=x"-2x>+ 4x —1; then 0 1 -1 4
F(O)=____
3 | Lagrange used notation for Df(x) f'(x) f'( x) dy
derivative. dx
4 i(tamf;) = sec Vx secx sec? V/x sec’ x
dx Jx 2Jx 2
5 d = 1 e-1 0
Ex_(” ) — en /2
6 | The functi =x*-x-2 hasl 1 2 GZ -1
= nction f(x)=x"-x as local /2 A
minima at x=
7 n-1 o n+l 2n n
fx e Bl x +c c’ ad +c +c
n+1 2 n+l
8 J‘axdx: a* x+1 a* a‘+c
S +c +c
x+1 x+1
9 .[ 1 i Tan™'x Sin~'x —Sin'x
J1=x?
10 2 2 3 4
Order of é—i}i+ 2-‘iy—+y =0 1is_
dx dx
11 | Slope of 2y—5x =3 is 4 - > 2 5
% 2 % 72
12 | Normal form is T=Y = y=mx+c -| xcosa + X Y
. —t==
m(x-x,) ysin@=p | a b
13 | Which one x> +5xy + xt+yt= x+2y=0 xt+2=y7
homog 2
y =0
14 | (0,1) satisfy 2x+3y<0 x—y<-1 x+y<-1 x+y>3
15 | Parametric equation of x*+ y*=4 is X = cosb,; x=2cosf, | x=2cos6; | x =cosb,
' y=3sinf | y=sinf y = 2siné y =sinf
16 | Radius of x> + y* +4x+4y=0 is 1 2 2 242
17 | For hyperbola: e>1 e<l e=1 e=0
18 ! . . x* Y
Major axis for ellipse a_2+ b_2=1 , y=2 x=y | y=0
a>bis
19 | Which of one triplet is direction angle? 30°,45°,60° | 45°,45°,45° | 90°,0°,0° | 90°,45°,45°
20 3i 3 -3i -3

Gjxk-i=___

14(0bj)(%)-2023(2"-A)-/ 8 ¢cx> (MULTAN)
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Paper Code

2023 (2"%-A) { J 5(2> )
Number: 4193 INTERMEDIATE PART-II (12 Class) Roll Nb: - 7
MATHEMATICS PAPER-II GROUP-I \ L

TIME ALLOWED: 30 Minutes

| OBJECTIVE

[ MAXIMUM-MARKS: 20

Q.No.1 | You have four choices for each objective type question as A, B, C and D. The choice which you think
is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to
fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.

S.# QUESTIONS A B C D

1 | Radius of x* +y* +4x+4y=0 is 1 2 N2 242
2 | For hyperbola: e>1 e<l e=1 =0
3 . . . xr Y
Major axis for ellipse —a—§—+ =1, y=2 x=y x =0 y=0
a>bis
4 | Which of one triplet is direction angle? 30°,45°,60° | 45°,45°,45° | 90°,0°,0° | 90°,45°,45°
S 1 Bixk)-i= 3i 3 -3i -3
6 mathematician invented a
symbolic way to write “ y is a function Euler Newton ni Cauchy
of x” as y= f(x).
7 | Let f(x)=x"--2x"+ 4x —1;then 0 1 -1 4
| SO
8 | Lagrange used notation for Df (x) X))o F(x) dy
derivative. —c—lx—
P 1 tan ) = sec? sec X sec’ \x sec” x
dx 2Vx 2Vx
10 _d_(ﬂe)= \1 er®” z°lnz 0
dx
11 | The function =x*-x-2h 1 2 -2 -1
i f(x)=x"~-x as, A A
minima at x=
12 xn +1 xn x2n xn
+c —+c +c +c
n+l1 n 2 n+l
13 a* x+1 a* a*+c
+c +c +c
Ina x+1 x +1
14 Cos™'x Tan™'x Sin™'x —Sin”'x
15 2 1 2 3 4
Orderofdf+2ﬂ+y=0is .
dx dx
16 | Slope of 2y—5x =3 is . -2 -5 2 5
% 2 % !
17 | Normal form is Y=y = y=mx4—c xcosa + x, Y 4
. — ==
m(x—x,) ysma = p a b
18 | Which one is second degree x? +5xy + x> +y* =1 x+2y=0 xt+2=y"
homogeneous equation? 5
y =0
19 | (0,1) satisfy 2x+3y<0 x—-y<-1 x+y<-1 x+y>3
20 | Parametric equation of x* +y* =4 is X = cosb,; x=2cosf; | x=2co0s8; | x=cosb,;
y=3sind | y=sind y =2siné y =siné

14(0bj)(¥€)-2023(2"-A)-/& 60 (MULTAN)
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Paper Code
Number: 4195

2023 (2"-A)

INTERMEDIATE PART-II (12" Class)

MATHEMATICS PAPER-II

GROUP-I

\ 7
Roll No:
N_—

TIME ALLOWED: 30 Minutes

|  OBJECTIVE

| MAXIMUM MARKS: 20

Q.No.1

You have four choices for each objective type question as A, B, C and D. The choice which you think
is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to

fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
S# QUESTIONS A B C D
1 |Slopeof 2y-5x=31is - - 2 5
Sl % % % !
2 | Normal form is Y-y = y=mx+c | Xcosa + . Y
m(x—x,) ysing = p a b
3 | Which one is second degree x2+5xy + x2+y?=1 x+2y=0 x?+2=y?
homogeneous equation? 2
y =
4 | (0,1) satisfy : 2x+3y<0 x-y<-1 x+y<-1 x+y>3
5 | Parametric equation of x*+y*>=4 is X = cos b, x=2cos#; | x=2co0s X = cos b,
y=3sinf | y=sind y=2 =sind
6 | Radius of x> +y* +4x+4y=0 is 1 2 242
7 | For hyperbola: e>1 e<l e Pl e=0
8 e . xt Y Q
Major axis for ellipse ;7+ —I;—2—=1 , y=2 X3 ve=0 y=0
a>bis ¢
9 | Which of one triplet is direction angle? 30°,45°,6 ,45° | 90°,0°,0° | 90°,45°,45°
10 [ (3jxk-i=___ 3 23 3
11 mathematician invented a
symbolic way to write “ y is a funcnon Newton Leibniz Cauchy
of x” as y= f(x).
12 Letf(x)—-x—2x+4x—1'then 1 =1 4
fO)=____ *
13 | Lagrange used Df(x) f(x) F(x) dy
derivative. .
14 %(tan\/;) _ sec? % secx sec?/x sec’ x
Jx 2Jx 24x
15 d . 1 e-1 e 0
:ix—(” ) = er 7°Inx
16 | The functi =x? —x-2 ha 1 1 2 -2 -1
e function f(x)=x*-x as loca A A
minima at x=
17 J-x"’ldx= : n#0 X"+l n 2n n
E— +c +c +c +c
n+1 n 2 n+l
18 fa‘dxz X x+1 x a*+c
+c +e ——+c
Ina x+1 x +1
19 .[ L. Cos™'x Tan™'x Sin™'x —Sin”'x
1-x?
20 2 1 2 3 4
Order of g “2V+ 292+y =0 is
dx dx
14(0bj) (¥ ¥%)-2023(2"-A)-/J 00 (MULTAN)
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2023 (2"%-A)
Number: 4197 INTERMEDIATE PART-II (12" Class)
MATHEMATICS PAPER-II GROUP-I N /
TIME ALLOWED: 30 Minutes [ OBJECTIVE | MAXIMUM MARKS: 20

Q.No.1

You have four choices for each objective type question as A, B, C and D. The choice which you think
is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to

fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that g uestion.
S# QUESTIONS A B C D
1 . : = 2 . 1 2 -2 —1
T}.le.ﬁmctlon f(x)=x*-x-2 has local A A
minima at x=
2 j'xn-ldx= D on# 0 xn+l x" x2n xn
e +c +c +c
n+1 n 2 n+l
3 jaxdx= a® x+1 ax ax +c
e +c +c
Ina x+1 x +1
4 j‘ 1 5 Cos™'x Tan™ x Sin”'x ~Sin"'x
1-x?
5 2 1 2 4
orderof £ 24 2% 4y=0is____
dx dx
6 | Slopeof 2y—5x =3 is . 3
pe of 2y d %
7 | Normal form is cosa + X Y
ysina = p a b B
8 | Which one is second degree x+2y=0 xt+2=y"
homogeneous equation?
9 1(0,1) satisfy " x+y<-—1 x+y>3
10 | Parametric equation of x* +y*>=4 is x =2cosf; | x=cosb;
I y =2siné y =siné
11 | Radius of x* +y? +4x+4y=0Q is 1 2 2 242
12 | For hyperbola: K4 e>1 e<l e=1 e=0
13 ) )
Major axis for ellip =1, y=2 x=y x=0 y=0
a>bis
- 14 | Which of on is direction angle? 30°,45°,60° | 45°,45°,45° | 90°,0°,0° | 90°,45°,45°
15 (Bixp-i= 3i 3 -3i -3
16 mathematician invented a
symbolic way to write “ y is a function Euler Newton Leibniz Cauchy
of x” as y= f(x).
17 | Let f(x)=x>-2x>+ 4x —1; then 0 1 el 4
FO)=___
18 | Lagrange used notation for Df(x) f'(x) (%) dy
derivative. r
19 _‘z_(tan\/;) = sec’ \/x sec X sec? +/x sec” x
dx Jx 2x 2%
20 ’
% (7%) = 1 er 7tz 0

14(Obj) (e RETeH)-2023(2"-A)-/HOd (MULTAN)
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Paper Code 2023 (2"%-A) K 7‘/
Number: 4192 INTERMEDIATE PART-II (12 Class) Roll No:
MATHEMATICS PAPER-II  GROUP-II

TIME ALLOWED: 30 Minutes

OBJECTIVE

| MAXIMUM MARKS: 20

Q.No.1 | You have four choices for each objective type question as A, B, C and D. The choice which you think
is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to
fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.

S.# QUESTIONS A B C D

1 | Which is not the exponential function? % n e* x"
2 . siné@ ) ) Degree Radian Gradient None of these
lim—— =1, where @ is measured in:
60 @
30 ro= 10+ FOx+ L@ SO Taylor series Binomial Maclaurin | Laurent series
' 2! 3! series series
o ('0) Y is called:
n!
4 ( = x) -1 1 1 1
—] COS§ — (=
a Jaz_xz Ja? -2 ava® -x2 ‘/az_*_xz
SOIf S (x)=cosx, then f’(sin”'x)= —sinx N x
6 |If y=e, then y, = 16e** 8e** s ~16e*
7 fﬁdx= ax+e aén]x,+c +c l£’nlx|+c
a
X
8 b c ¢ ¢
[f(x)dx= a<c<b [reoac+ | s [ [fydes | =[F(x)an+
p a b a
b a
[ @) dv | [fx)ax |
: : [ @) ax
5 : - :
jsm Sx dx = X +c —lcos5x +c —l-sinx +c lcosSx+c
10 | =
I sec? 6 4o = 1 2 Zero 3
=
11 | If a is some fixed number, th Along Parallel to Parallelto | Perpendicular
y=a is: y—axis y—axis X — axis to x —axis
12 1If m,and m, are slop mm,+1#0 | mm,+1=0| m =m, m = —m,
perpendicular lin
13 [If b=0,th eax+by+c=0 is: Vertical Horizontal Inclined None of these
14 | (0,0) ist ion of inequality: Tx+2y>3 x=3y>0 x+2y<6 x-3y<0
15 | The condition for a line y = mx + ¢ to be c=tmfl+a® | c=tafltm® | c=ta -m* | c=tmfi-a*
the tangent to the circle x> + y*= g is:
16 | The eccentricity e of ellipse is: e=0 e<l1 e>1 e=1
17 | The length of lactusrectum of the ellipse 2h2 a? a 2ab
2 3 —_ — -
—2-+—2- =1 is: a 2b 2b
a® b
18 | Length of tangent drawn from (0, 1)tothe 4 3 2 I
circle x* + y? +6x—3y+3 = 0 is:
19 | A vector perpendicular to both vectors a.b axb a.b b.a
a and b is: Ta_'—
20 | The magnitude of u =i + Jis: 2. [ + 7 2 2 P+ ]
V2

16(Obj)(%)-2023(2"-A)-2 7&3 (MULTAN)
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Number: 4194 INTERMEDIATE PART-II (12" Class) Roll No:
MATHEMATICS PAPER-II GROUP-II
TIME ALLOWED: 30 Minutes [ OBJECTIVE | MAXIMUM MARKS: 20

You have four choices for each objective type question as A, B, C and D. The choice which you think

Q.No.1
is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to
fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
S.# QUESTIONS A B C D
I [ If y=e*, then y, = 16e** 8e* 4¢** —16¢*
: j.z.dx= axre atnlxlve | S b Sy
3 b [ ¢ ¢ ¢
[£(x)dx= a<c<b [feoac+ | [reoa- | [fede+ | -[f(de+
a a b a
: b b a
[r@a | [fod | [fede |
¢ ¢ ¢ jf(X) dx
4 Sox R i
Ism Sx dx = ——1—cosx+ c ——1—c035x+c lsi 1cos5x+c
6 5 5
5 %
J'secz 6 do = I 2 @ 3
6 | If a is some fixed number, then the line Along allel to Parallel to | Perpendicular
y=ais: y —axis ¥y is® X — axis to x—axis
7 | If m,and m,are slopes of two mym, +1 gt =0 | m =m, m, =—m,
perpendicular lines, then
8 | If b =0, thenthe line ax + by + ¢ = 0 is: 4 Horizontal Inclined None of these
9 1 (0, 0) is the solution of inequality: x-3y>0 x+2y<6 x-3y<0
10 | The condition for a line y = mx + ¢ to be c=taf1+m® | c=xayl-m’ c=tmyl-a?
the tangent to the circle >+ ¥y = a’
11 | The eccentricity e of ellipse is: e=0 e<l e>1 e=1
12 | The length of lactusrectum 22 a? a 2ab
22 -—— — T
NS a 2 Z
a
13 | Length of tang (0, 1)tothe 4 3 2 1
circle x* + 3=0is
14 | A vecto ar to both vectors a.b axb a.b b.a
a and b is: m
I5 | The magnitude of u =i + j is: 5 /;—‘2+}-2 2 J2 i+ ]
N2
16 | Which is not the exponential function? ¥ n* e* x"
17 . sin@ . . Degree Radian Gradient None of these
gém’(t) =1, where & is measured in:
18 | rexy= @+ @x+ L @ 2 SO s Taylor series Binomial Maclaurin | Laurent series
2! 3! series series
O is called:
19 | d ( cos X ) _ -1 1 1 1
dx a st ’az :_;; aZ _x2 aJaz __x2 _\/;2 +x2
20 | If f(x)=cosx, then f'(sin”x)= —sinx —-X 1 x
16(Obj)(¢rﬂ')—2023(Z“d-A)-Z7ob (MULTAN)
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Paper Code 2023 2"%-A) \ V)/
Number: 4196 INTERMEDIATE PART-II (12° Class) Roll No:
MATHEMATICS PAPER-II __ GROUP-II —
TIME ALLOWED: 30 Minutes [ OBJECTIVE __ | MAXIMUM MARKS: 20
Q.No.1 | You have four choices for each objective type question as A, B, C and D. The choice which you think
is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to
fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
S.# QUESTIONS A B C D
1 | If a is some fixed number, then the line Along Parallel to Parallel to | Perpendicular
y=ais: Yy —axis y —axis X — axis to x —axis
2 | If m,and m, are slopes of two mm,+1#0 | mmy+1=0| m=m, m, =—m,
perpendicular lines, then
3 | If b=0,thentheline ax + by + ¢ =0 is: Vertical Horizontal Inclined None of these
4 | (0, 0) is the solution of inequality: Tx+2y>3 x=3y>0 x+2y<6 x-3y<0
5 | The condition foraline y = mx + ¢ tobe | cotmfl+a® | c=ta fiem? | c=ta1-m* | c=tmy1-a*
the tangent to the circle x+ y2 =a’ is:
6 | The eccentricity e of ellipse is: e=0 e<l
7 Tl:e length of lactusrectum of the ellipse 222— _a_Z_
LI A a 2b
Tt =
a
8 | Length of tangent drawn from ( 0, 1) to the 4 3 1
circle x> +y> +6x-3y+3 =0 is:
9 | A vector perpendicular to both vectors a.b < a.b b.a
a and b is: m
10 | The magnitude of u =i+ j is: 2 P2 2 2 P4
. V2
11 | Which is not the exponential function? n* e* X"
12 . sind ) . Degree Radian Gradient None of these
gmé =1, where & is measured i
13 | r(x)= fO)+F@x+ IO ., S7O Taylor series Binomial Maclaurin | Laurent series
2t 3! . ;
® series series
SO
14 | d ( o ® -1 1 1 1
dx PR at—x* ava® —x* @ +x2
I5 11f f(x)=c —sinx - 1 X
16 |If y=e 16> 8e** 4e** —~16e**
L & e = T aﬂnlxl-t»c ——%—+c lé’nix]-&-c
X X a
18 b ¢ c c ¢
[£(x)ax= a<c<b [reodcs | [rooda- | [rde+ | =[fdx+
a a b a
! b b a
[fmar | [feoax | [foac | s
c c c —‘.f(X) dx
19 tn & =
j'sm Sx dx = —-—1~cosx+ c —lc085x+c lsinx+c —1—0055x+c
6 5 5 5
20 | o
J'S(:CZ 0 dé = 1 2 Zero 3
T

16(Obj)(¥r3r3)-2023(2"-A)- L. 70> (MULTAN)
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Papef' Code
Number: 4198

2023 (2"-A)
INTERMEDIATE PART-II (12" Class)

Roll No: K?/

MATHEMATICS PAPER-II

GROUP-II

TIME ALLOWED: 30 Minutes |

OBJECTIVE

| MAXIMUM MARKS: 20

Q.No.1 | You have four choices for each objective type question as A, B, C and D. The choice which you think
is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to
fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
S# QUESTIONS A B C D
1 | The eccentricity e of ellipse is: e=0 e<l e>1 e=1
2 | The length of lactusrectum of the ellipse 2h? a? a 2ab
2y T % 2%’
a b
3 | Length of tangent drawn from (0, 1) to the 4 3 2 1
circle x* +y* +6x-3y+3 =0 is: v
4 | A vector perpendicular to both vectors a.b axb a.b b.a
a and bis: T‘—’T
5 Themagnitudeofgéi+lis: ) 1‘2,,_]‘-2 2 f+j
V2
6 | Which is not the exponential function? a» n* * x"
7 . siné . , Degree Radia dient None of these
lim—— =1, where & is measured in:
8->0
8 | f(x)= £+ /O)x+ f_;—(".)l % +Z¥ % Taylor series B mia‘ Macl'flurin Laurent series
h ' @ pS series
+ L0 is called:
- nl
9 i( cos™ E) ! - L
dx a ﬂ ) az_xz a‘\’az_xz a2+x2
10 | 1f f(x)=cosx, then f'(sin”' x)= < —-X 1 x
11 1 1f y=e*, then y, = 16¢** 8e™* 4e* —16e*
12 q i = ki afnlxl+c —iz+c —l-ln|x|+c
x X a
N
13 b £ ¢ c c
} [£(x)ax b [reode+ | [ronac- | [fod+ | =[f(x)d+
“ a a b a
b b a
[fwae | [fmax | [foade | ¢
: ' ¢ j F(x) dx
14 : -
jsm 5% dx = —-Z:cosx+ c —%cosSx+c —sinx + ¢ —;—0055x+c
15 | %
J‘sec2 6 dé = 1 2 Zero 3
T
16 | If a is some fixed number, then the line Along Parallel to Parallel to Perpendicular
y=ais: y—axis y—axis X —axis to X —axis
17 | If m,and m, are slopes of two mm,+1#0 | mm,+1=0| m =m, m, = —m,
perpendicular lines, then
18 | If b =0, then the line ax + by + ¢ =0 is: Vertical Horizontal Inclined None of these
19 | (0, 0) is the solution of inequality: Tx+2y>3 x-3y>0 x+2y<6 x-3y<0
20 | The condition for a line y = mx + ¢ to be czi-m\/‘1+a2 c=tai+m® | c=tafl-m* | c=tmyl-a?
the tangent to the circle ¥+ Y= a* is:

16(0b)) (KA %)-2023(2™-A)-2 /00 (MULTAN)






